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1. If A, B and C are three sets such that


 and 
 , then
 (1) 


(2) 
(3) 
(4) 

Watch Video Solution

A ∩ B = A ∩ C A ∪ B = A ∪ C

A = B A = C B = C A ∩ B = φ

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_BiB77xBVV7OJ


2. If

, where N is the set of natural numbers, then 

is equal to
 
 
 


Watch Video Solution

X = {4n − 3n − 1: n ∈ N}andY = {9(n − 1) : n ∈ N}

X ∪ Y

(1)N (2)Y − X (3)X (4)Y

https://dl.doubtnut.com/l/_BiB77xBVV7OJ
https://dl.doubtnut.com/l/_qUcqb3EMyrGY

